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Question Answer Marks AOs Guidance 
8 

b² = 11.492
6.8

  oe M1 3.1a 

b = 1.3 A1 1.1 

42b + a = 57.2 M1 1.1 b may be incorrect numerical value 

a = 2.6 A1 3.2a 

[4] 
9 (a) 5

9
× 4

8
× 3

7
× 4

6
  oe 

× 4

M1 

M1 

1.1 

1.1 

M0 if binomial distribution or sampling 
with replacement used 
dependent on award of first M1 

Alternative 

9C4  [= 126] soi M1 1.1 

5C3 × 4C1   [= 10×4] soi M1 1.1 

40
126

 𝑜𝑜𝑜𝑜 20
63

  or 0.317460…isw or rounded to 2 sf or 
better 

A1 1.1 

[3]
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9 (b) 4

9 ×
3
8 ×

2
7 ×

5
6 × 4  𝐨𝐨𝐨𝐨  𝑜𝑜𝑜𝑜 

4
9 ×

3
8 ×

2
7 ×

1
6  𝐨𝐨𝐨𝐨 M1 

M1 

3.1b 

1.1 

condone omission of × 4  in first term; 
M0 if binomial distribution or sampling 
with replacement used 

for addition of their terms; dependent on 
award of first M1 

Alternative 
4C4 + 4C3 × 5C1 M1 

M1 

for 4C3 × 5C1 

for addition of their terms; dependent on 
award of first M1 

NB 1 + 4×5 = 21 

Alternative 
5
9

× 4
8

× 3
7

× 2
6

 + 4 × 4
9

× 5
8

× 4
7

× 3
6

+ 6 × 4
9

× 5
8

× 4
7

× 3
6
 

oe 
1 − their 2520

3024
 

M1 

M1 

for two of these terms 

for 1 ‒ the sum of their 3 terms 

NB 2520
3024

= 5
6
 

1
6

 or 0.166666….to 2 sf or better A1 1.1 

[3] 
9 (c) (3 BF, 1M) + (2BF, 1NBF, 1BM) attempted M1 3.1b M0 if binomial distribution or sampling 

with replacement used 

3
9

× 2
8

× 1
7

× 4
6

  × 4  +   3
9

× 2
8

× 2
7

× 1
6

× 12 �= 5
63
� oe A1 1.1 

Alternative 
3C3 × 4C1 + 3C2 × 2C1 × 1C1 

10 

M1 

A1 

for either term 

10
21

 or 0.476190476…to 2 sf or better A1 1.1 

[3]
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9 (d) 

not independent since 10
21

≠ 20
63

  oe  B1 2.4 FT their probabilities no FT if binomial 
distribution or 
sampling with 
replacement used 

Alternatively 
not independent since 20

63
× 1

6
≠ 5

63

FT their calculated probabilities from 
first three parts 

[1] 
10 (a) to account for seasonal variation in birds oe 

or to account for different weather conditions which 
affects what birds are seen oe 

B1 2.2b 

[1] 
10 (b) positive skew cao B1 1.2 

[1] 
10 (c) eg in lower quartile (or lower tail) 

eg much lower than median (or middle) oe 
eg frequency of 3 and others have frequency of 2 
eg distribution is skewed (so median more appropriate) 

B1 2.4 NB mode is 9 

[1] 
10 (d) median is 19.5 B1 1.1 

LQ is between 8th and 9th value or UQ is between 24th 
and 25th value soi  

M1 1.1 allow for sight of 11 or 30 

IQR = 30 – 11 = 19 A1 1.1 
[3] 

10 (e) 2015: 32 ≤  median  ≤ 34, much bigger than (their 
19.5) in 2019  which supports Ben’s first statement oe 

2015: 31 ≤  IQR  ≤  34 was (much) bigger than (their 
19) in 2019 which does not support Ben’s second
statement oe

B1 

B1 

2.2b 

2.4 

if B0B0 allow SC1 for  
true – median smaller in 2019 oe and 
false – IQR smaller in 2019 oe 

[2]




